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INESV PSRl == 1,143,742 775,078 368,664
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= 28,460
o 287,112
Al 828,170
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300,000& x12& 3,600
OXgMEe 5 AR2EM 22 150,000& 85 1,200
OXEM EE22 &40 H& 500,000& x53| 2,500
OX YA 2 233 G
100,000 x10H x23| 2,000
OXNEYA RNEGEDXNAN S22 EH 2
250,000 x84 2,000
ONYH SUE48 D2TRH EH 2
680,000 =44 2,720
OADIEDNMN Y ¥ 42448
(150 «8,0000H )+( 100 «8,0000H ) 2,000
O2JI83&D| X 50,000& *30H +12& 1,800
02 =224 4| 130,000 140,000 A 10,000
OHFD| L £A2 DIALSs & 2BR2
80,000,000 80,000
OMEILOXNAMN L CHHE Y 2ER2
48,000,000 48,000
ONEEZ2XAMYR AKX L] 2,000,000& 2,000
202 04 d| 3,500 5,000 A 1,500
01 2L I 3,500 5,000 A 1,500
ONMASR2E =S 3,500,000& 3,500
203 €2 F=&d| 5,000 5,000 0
03 Al 2 =& 2 =X H| 5,000 5,000 0
ONZR AMME=RAHRLF=XH| 5,000,000& 5,000
301 et A= 5,000 5,000 0
12 JIEtE2 A= 5,000 5,000 0
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OXEgAN daEMA NAEHS
(50,000 +30H )+(30, 000 *50 )+(20,000& * 5,000
100 )
306 =43 5,746 6,355 A 609
01 &3 5,746 6,355 A 609
OXNgHNHARA EAHS 5,746,000 5,746
308 XX EHH SOl A 766 712 54
07 IXNHMARE = 766 712 54
OX&gAH Z2A=E2H RES 766,000 766
405 RHoHE S HI 250 0 250
01 AL EZFH S 250 0 250
OXEN HEY 23 +48 +48 JE e
Jl 2 250,000& 250
NENE 225 2el 167,277 69,428 97,849
201 £B-2dH| 13,160 14,899 21,739
02 =224l 13,160 14,899 A1,739
OXZAN - M+ dat2d X2 13,160
-A & &l XYl 220,000 1228 2,640
-NETeHI FRES 220,000& »12& 2,640
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308 XX EHH SOl A 49,115 54,049 A4,934
10 B2 SUHUEEAHEAE A 49,115 54,049 A4,934
OEZEXNLANAFEANLE RINE >
18,369, 000& 18,369
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21,439,000 21,439
OLMSEAMNAE STE 757,000 757
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8,550,000 8,550
403 XA S =0l & 105,002 480 104,522
02 S 2S00 HEt A= R &AL H 105,002 480 104,522
OXtHIO XAl B2AAYE 2=
105,002, 000& 105,002
Nel+=g &= 115,273 83,081 32,192
201 £B-2d| 18,740 21,090 A 2,350
01 At 22l 18,740 21,090 A 2,350
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2,000,000& 2,000
OM2A+e ABIIE S48
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202 o4 | 1,700 2,400 AT700
01 2Ll 1,700 2,400 AT700
OAZESEERH DI M A 42 S|
1,700,000 1,700
303 ZA& 2 15,000 15,000 0
01 A2 15,000 15,000 0
ONa=d& = TAS 500,000,000 *3% 15,000
308 XAHXIGHH SO0l & 21,389 21,389 0
10 2| 2SHUSHE A XERAEASH] 21,389 21,389 0
OEZ=MHAL+ULEBAIAE SAE 5
21,389,000 21,389
403 XX SHHS K20 ™ 58,444 23,202 35,242
02 BII2SHUESX2EAEAIEHI 58,444 23,202 35,242
OXMITE XA A= HBEAAE =
58,444,000 58,444
HE FEIIA BAIAY 56,920 59,206 N2,286
= 28,460
Al 28,460
201 LBt ]| 52,120 54,406 N2,286
= 26,060
Al 26,060
01 AP 22| H| 50,320 52,606 N2,286
ONgEFeilA A== 2 43,320,000 43,320
= 21,660
Al 21,660
ORSMIIABAARS AR o+
2,000,000& 2,000
= 1,000
Al 1,000
OMNgxFeIAd =2 S4+9 MZE 2,000,000 2,000
= 1,000
Al 1,000
OMNE FEHIIH XA LBt4=2H| 3,000,000& 3,000
= 1,500
Al 1,500
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02 =224l 1,800 1,800 0
OMg=8 dUEH FX2+  450,000& 43 1,800
= 900
Al 900
202 odl 4,800 4,800 0
= 2,400
Al 2,400
01 SLHOIYI 4,800 4,800 0
OMNgE =&t EL XA (bl 4,800,000& 4,800
= 2,400
Al 2,400
NS e xAs =& 56,200 50,620 5,580
201 Lt 2| 45,360 50,620 A5,260
01 At 224l 43,360 46,620 A 3,260
OXNYHAHAANAE AAZE 14,080
NEBHEASES 3,960,000 3,960
AP IUE= ey 7,920,000& 7,920
-MEOOIHY St 2,200,000 2,200
OMEIXAN & HRAUE SS9
1,000,000& 12 12,000
Ofl&ENE X & s EH &I 10,000& *200H 200
OdgHdMz2d HE 400,000 x12& 4,800
OMEXSEXNILAAE SIE=HI
440,000& x12& 5,280
OXHIIAAY 2F S/W, HSEHAAD S
7,000,000& 7,000
02 2324gHl 2,000 4,000 A 2,000
OMg&E=+=gSe &g 24K XH 2,000,000 2,000
405 XHoHF S HI 10,840 0 10,840
01 At ESFH S 10,840 0 10,840
OXSEIXIAAE W 10,840
—J+0il et 2,000,000& »2CH 4,000
-Sd= 1,000, 000& »2CH 2,000
-HAHXxd 2,200,000 »20H 4,400
-BERFHI(AOIZ, HIU S) 440,000& 440
NEA M= MR ABZA X2 544,956 302,982 241,974
< 272,478
Al 272,478
101 14 Hl 544,956 302,982 241,974
< 272,478
Al 272,478
04 JIZHHZ22XHEES 544,956 302,982 241,974
OXZMN M= M HEHZAL 2Y 544,956
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< 179,090
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=g 10,364 & x30H 6 Al 2+ *x40=F 74,621
< 37,310
Al 37,311
ARSI Y 10,3643 x30Y «6A| 2tx4 Y 7,463
< 3,732
Al 3,731
-EZ 0l 10,364 & 30 192 59,697
< 29,848
Al 29,849
- E SOt 500,000 *30H 15,000
= 7,500
Al 7,500
4288 S 29,995,000& 29,995
S 14,998
Al 14,997
SHHEY ZaEE XY 14,634 12,274 2,360
< 14,634
101 1A bl 2,500 8,000 25,500
< 2,500
04 JIZHHZ2XNESE S+ 2,500 8,000 A 5,500
OAEHEZAL JI2tH 22X ml=8l 1,000,000 1,000
< 1,000
O&AEHZAL JI2HH 22X W=EHl S
1,500, 000& 1,500
= 1,500
201 L2 | 10,100 2,000 8,100
= 10,100
01 At 22l 10,100 2,000 8,100
OAEHZAL JI2HH 22X ME S22 MHE
500,000& 500
< 500
OAEHZAL JI2HH 224 e HEHI =
150,000 »3H 2 900
< 900
O&aB A 22 FH| 1,000,000 1,000
< 1,000
OFXLFAEIA ZEIAAE 0|2 (AY)
7,700,000 7,700
< 7,700
202 oidl 2,034 2,274 A 240
< 2,034
01 S LHOHI 2,034 2,274 A 240
OZMMgH H+8F 0l 2,034,000& 2,034
< 2,034
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HY2FZH (MRD) 78,480 74,640 3,840
Jl2ZH (M) 78,480 74,640 3,840
Jl2ZHI (M) 78,480 74,640 3,840
201 Let24d] 18,000 18,000 0
01 At 2teltl 18,000 18,000 0
ORA2E AR 22| 18,000, 000& 18,000
202 O4dl 55,680 51,840 3,840
01 =S LHAYI 55,680 51,840 3,840
OJl2ge==80tl(29¢) 55,680,000& 55,680
203 YR =2l 4,800 4,800 0
04 FN2ELSFAH 4,800 4,800 0
ORN2ZERF&HI(3020l5t)
400,000& x12& 4,800




